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Here Mathematicawas used to solve this transcendental equation.
FindRoot is the option touse in that

case as the Solve command is reserved for polynomial equations.
youwill have togive a value of x that youmay think that

the solutions is at the vicinity of that value.
As you see below there is only two reasonable solutions for

that transcendental equation.i.e 2.6978 and 5.284

In(18]:- FindRoot|[xCot[x] = -V4n?-x?, {x, 1}]
out{ig8]= {x—>5.28408}

FindRoot[xCot[x] =-Van?-x?, {x 2}]

Out[19]= {x->2.6978}

-Van?-x?, {x, 3}]

Inf20}:= FindRoot [x Cot [x]

Qutf20]= {x->2.6978}

-Van-xz, {x, 4}]

In[21]:= FindRoot [x Cot [x]

out[21]= {x - 5.28408}

In[22]:= FindRoot|[x Cot[x] = -Van2-x?, {x 5}]

out(22]= {x- 5.28408}

In[23]:= FindRoot[xCot[x] = -Vant-x2, {x, 6}]

outf23]= {x-5.28408}

-Van?-xt, {x, 7}]

In[24]:= FindRoot [x Cot[x]

FindRoot::1stel :

The line search decreased the step size to within tolerance specified by AccuracyGoal and PrecisionGeal
but was unable to find a sufficient decrease in the merit function. You may need more
than MachinePrecision digits of working precision to meet these tolerances. More...

outf24]= {x-7.64152+1.58728x107** i}

Inf{25]:= FindRoot[xCot[x] =-Van?-x? , {x 8}]

FindRoot::1lstol -

The line search decreased the step size to within tolerance specified by AccuracyGoal and PrecisionGoal
but was unable to find a sufficient decrease in the merit function. You may need more
than MachinePrecision digits of working precision to meet these tolerances. More..

out[25]= {x—=8.+1.60235x107 141}
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